Combined Totals

RFP 22-002 TENNIS PROFESSIONAL SERVICES SCORING SHEET

Paul Findlay- Island City Tennis

Criterion	Points		Weight	Subtotal
Demonstrated Tennis Professional Experience	39	X	30	1170
Annual Proposal Cost to the City	28	X	25	700
Experience in all areas of tennis facility maintenance	39	X	10	390
	33	X	15	495
Tennis facility operations plan				
Experience in all aspects of directing tournaments	36	X	10	360
			Total	3115

<u>Tomas Gattermayer- Sunshine State Tennis Academy LLC</u>

Criterion	Points		Weight	Subtotal
Demonstrated Tennis Professional Experience	26	X	30	780
Annual Proposal Cost to the City	39	X	25	975
Experience in all areas of tennis facility maintenance	3	X	10	30
	4	X	15	60
Tennis facility operations plan				
Experience in all aspects of directing tournaments	2	X	10	20
			Total	1865

RFP 22-002 TENNIS PROFESSIONAL SERVICES SCORING SHEET

Paul Findlay- Island City Tennis

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	10	X	30	300
Annual Proposal Cost to the City	8	X	25	200
Experience in all areas of tennis facility maintenance	10	X	10	100
Tennis facility operations plan	9	X	15	135
Experience in all aspects of directing tournaments	10	X	10	100
			Total	835

Tomas Gattermayer- Sunshine State Tennis Academy LLC

Criterion	Points (1-10)	1	Weight	Subtotal
Demonstrated Tennis Professional Experience	6	X	30	180
Annual Proposal Cost to the City	10	X	25	250
Experience in all areas of tennis facility maintenance	0	X	10	0
Tennis facility operations plan	0	X	15	0
Experience in all aspects of directing tournaments	0	X	10	0
			Total	430

Submitted by:

Rod Delostrinos on 13 April, 2022

RFP 22-002 TENNIS PROFESSIONAL SERVICES **SCORING SHEET**

Paul Findlay- Island City Tennis

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	9	X	30	270
Annual Proposal Cost to the City	6	X	25	150
Experience in all areas of tennis facility maintenance	9	X	10	90
Tennis facility operations plan	8	X	15	120
Experience in all aspects of directing tournaments	9	X	10	90
	1		Total	720

Tomas Gattermayer- Sunshine State Tennis Academy LLC

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	6	X	30	180
Annual Proposal Cost to the City	9	X	25	225
Experience in all areas of tennis facility maintenance	2	X	10	20
Tennis facility operations plan	2	X	15	30
Experience in all aspects of directing tournaments	1	X	10	10
			Total	465

T. Mes 4/13/22

MICHAEL VIA ZOOM

RFP 22-002 TENNIS PROFESSIONAL SERVICES SCORING SHEET

Paul Findlay- Island City Tennis

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	0	X	30	300
Annual Proposal Cost to the City	7	X	25	175
Experience in all areas of tennis facility maintenance	10	X	10	100
Tennis facility operations plan	8	X	15	120
Experience in all aspects of directing tournaments	9	X	10	90
			Total	785

Tomas Gattermayer- Sunshine State Tennis Academy LLC

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	7	X	30	210
Annual Proposal Cost to the City	10	X	25	250
Experience in all areas of tennis facility maintenance	1	X	10	10
Tennis facility operations plan	1	X	15	15
Experience in all aspects of directing tournaments	1	X	10	10
			Total	4-95

ANGELA

RFP 22-002 TENNIS PROFESSIONAL SERVICES SCORING SHEET

Paul Findlay- Island City Tennis

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	10	X	30	300
Annual Proposal Cost to the City	7	X	25	175
Experience in all areas of tennis facility maintenance	10	X	10	100
Tennis facility operations plan	8	X	15	120
Experience in all aspects of directing tournaments	8	X	10	80
			Total	775

Tomas Gattermayer- Sunshine State Tennis Academy LLC

Criterion	Points (1-10)		Weight	Subtotal
Demonstrated Tennis Professional Experience	7	X	30	210
Annual Proposal Cost to the City	10	X	25	250
Experience in all areas of tennis facility maintenance	0	X	10	0
Tennis facility operations plan	2	X	15	30
Experience in all aspects of directing tournaments	0	X	10	0
			Total	490